
A molecule of CO₂ has one carbon atom and two oxygen atoms.

The compound H₂O₂ has three oxygen atoms

NH₃ contains one nitrogen atom and three hydrogen atoms

C₆H₁₂O₆ consists of 12 oxygen atoms.

2 molecules of NaCl contain four atoms

True or False: Understanding Balancing Chemical Equations

How many total atoms are in one molecule of glucose (C₆H₁₂O₆)?
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Counting Atoms
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What is the total number of atoms in two molecules of water (H₂O)?

Calculate the number of nitrogen atoms in five molecules of ammonia.

Determine the total number of atoms in three molecules of sulfur trioxide.


